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GroupA (2xi0:20)
Attcnrpl any TWO questions:

1. \\rhat is a systr:rr-r of linear ecluations? \Vhen the systeur is consisteni./ Find a couditionctrt q, h., A that rnakes the systern consistent,

FLrll Nlarks: 60

Pass l\4arks: 2zi

I ilne: 3 lrorrrs.

[1+1+B]

. Define 7 : R3 + R2 by .l(r) : y1a
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2. Let, A : o
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(a) Cornpute T(u)
(b) Find a vector r G IR.3 u,irose image uncler T is ir.

(c) Is z unique?

3. trind a least squarr.e solutiotr of Ar: & u,here r{:
cornpute the associatcd lea.st square ertor.

Group B

At,ternpt any EIGHT questiorrs:
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Also,

[7+3]

(8 x 5:49)

4. Are thc vectors ur __- lj].,:f?'].,:l i]
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5. Find LU factorization of
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6. Comprrte Dct ,4 u.ltcie ,-,1 :
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7. Slrow that 11 : {(n. - 3b,h rL,o.b) : o,l) € li} is a sr_rbspace of JR.;
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[3+z]

ltt)l

t5l

t

9' Let u': (1,-2.2,0). Fiucr a Llrlit vector u i, the sarne directio* as z.

10. !'irrd flre hasis and dirrrension ot Nrrl ,4 wherc l: I L 2 J 4 
J

[2 4 7 8]
i1. Define group. Shorv that (2,.) doesn,t fbrm a group.

12. Show that every field is an integral domain.


